MO (laplen B
81  Cvapls of Cqrealeoms
8.9  Relations
83 Tahoduclion do Fuuchins — Q& days
8.4 Fcactoons and Tleo Srapls — R olags
ES  hinear funchons and modeds — O daws
5.6 Compornd insgualities — 2 days
3 Absol.te Vebeo E% wections + Tnequalifes - 3 clags



Mf\

Tor Ms, Crrey:
o Always Sl axes

o A&;Jzuéé ,a)dawﬁﬁmph
ﬂﬁ&chj and acewrate

Math 60: 8.1 Graphs of Equations

Objectives
1) Graph an Equation Using the Point-Plotting Method

2) Identify the Intercepts from the Graph of an Equation +o Ecﬂq e of 9" id-
3) Interpret Graphs o (Ise arro wheads.
W
Practice . ~ %
1) Evaluate for x =-2: 2x* —3x+1 3) ‘
Q(~g}2—3(»2)+} s o st Eam | plot i iah
2 (H)+ 6+ | i =T ‘V/ L
T4+ o+ | = et } ;
2) Determine if the values are solutions of the equation { S i “,-f e
3x-5(x+2)=4 ) N v L7 2SN
a x=-3 \\
3(~2)-B(-3+2)= 4 ‘
—F =60~ = o -\
b. x=-7 4 =4 C]ND é‘\
3(-7)-B(~7+2)=4 " .
—2 = 5(—5) =4 i A4
—aj+a5=9 d=4 [VES] )
3) Graph the equation y =-4x+5
S'LDPQ,: —-—1—}- = —-—Lf — :i ov j— /-“9('
Y-nt= (0,5) : al . 7
4) Graph the line 3x — 5y =15using intercepts 4
X Wi BR-50) =15 ywt: 3(0)-5y=15¢ e > %
DR =15 -by=-1|5
X= 5 y__ -3 /‘K
(_5/0) >/-— 3) - L ‘\“
5) Solvefory: 3x+2y=38 (o- L
27 —3K
o = - 3/)6 "3’3 = - . L
e O i &
6) Plot the points, label each with its name or coordinates, and identify the quadrant or axis on which it lies.
a’ (35) Qr & t
b. (-23) KL :
c. (-1-2) R NS
d (5.-3) ey bzt Hos)
e (04) y-axis :
& >
* Mwsays use Rovnan nwuwmnerzls Tihyd) SHRIEN
2 , 7 (% 33)
when identifbying guadeunts i
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7) Determine if the coordinates represent points on the graph of
2x -4y =12

e (-3)  a(@)-H(3)=\a
4+ (R= 12

=12 [No]

3 9 :
b. (5,—2) £l %) — 4(~%>:. (2
= 10[7}—;\2

8) Graph the equation y =—2x +4 by plotting points.
o s
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9) Graph the equation y = x’ by plotting points.
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11) Graph the equation y =3 - x| by plotting points.
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For each of the graphs numbered 55-58, identify the intercepts. Give ordered pairs.

55,

X-ivﬁ’er‘oepj_z ‘C)?l - \thr‘e, ﬁraqok
Chrosses K-axis.

vav\fyrce@‘t: ot where %wchin

hossCS \ékmcis.

X iy

C'3/O)
CAhOTION: 37. "
¥ST y —int S ANE -
Notice the seale & X

Projectile Maotion The graph to the right shows the
height, in feet.nf a ball thrown straight vp with an
mitial speed of X0 fect per second from an initisl
lweishit of S feet afler £ seconds.

o

Tiz e Yk  j234=2
—Prd R Each ek ({V\'\"
= dad ek (uovih B. =~ —)
e |54 Hick (9

So.
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b Idently and imterpret the mtereepis
Ve H means HEIGHT
T naxinnuwm keia W 196

A =

2

(

+Hme K5

156}

{ar What is the height of the abject after
1.5 swconds? &)
(B Al what Brae s the Beeht o masimwm? What is
the maximum Iwigﬂlt’_‘g fa 5 Seconds ‘
\ 196 feet|

[T iwvercept (6,6) At b seconds,
\Ae“ﬁk\—» is O feet

H—3vwlercept (0,96 A+ O Seconds,

Wheight is g6 4‘264—‘ ’

Py

Fhinye {seconds)

Y -\nwrercept™
(6,0)

4

Cell Phones We all struggle with selecting a cellular phone provider. The graph below shows the relation between the

monthly cost of a celtular phone and the number of minutes used. n.

SOURLE: Sprint.com

(9) What is the cost of talking for 200 minutes in a month? 300 minutes? both less Haan 00D in_wc(a,"(’ Y'\26(01&"

(b) What is the cost of talking 8000 minutes in a month?

$ieoo
(¢) ldentify and interpret the intercept. -
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